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331,901
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0 HIEBAA

(9 @ &)
nj; = olE _ .
s - 0| Ak OH Gl &t | SAZ M E 2 A
02X A X A H| 58,382| 138,382 80,000|(=H| 80,000,0002)
21 Al H| 58,382 138,382 80,000
213A1 8 & H| S XIH] 53,722  133,722| 80,000|0 =ne sz weEw 2y 2 zzauzAY 80,000,000 1A= 80,000,0009! (ZHI)
03AF H] 652,170  710,978| 58.808|(DIEH 19,332,0002!)
31Are | 652,170 710,978 58,808
31AXI & S | At H| 26,400 54,178 27,778|0 NS SOITIASSH 25,0002 +10%463+25= 23,000,000
O JFIMNELUTAAY S| 100, 0002 *13]= 100,000
O AAGHKISH &AlSH 0] U= GHFE At HI 73,094%*8%} *8§|: 4,678,000%
31BHI KNI &S 2 AL U] 118,692| 130,390 11,698|0 =X 2 T2 X2 AFHl 59,091, 120-57,393, 1202= 1,698,000
O =-omuol e BADRANL BHE 74 e 10,000,0002*13=  10,000,0002
JHN DB =2 X2 A HI 0 19,332| 19,332|0 At 205,000/ %14%=  2,870,0002 (JIEH)
(AHEZ &) O 2ZHI2 40,0002 *14%= 560,0002! (IE})
O sl 17,0002 14 *162=  3,808,000% (IIE})
O A= 2peEx3a 19,3402 *14%+152= 4,061,400% (OIE})
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2| & = Ol 225 I I
O A=Y 8,720 *6H*BAl 2Fx 11 = 3,453,120& (JIEH)
8, 7203 x6 B «BA| 2tx52 = 2,092,800& (JIEt)
O ANRIEE =5+ 8,720 6 *B Al 2Hx2F %1, 2= 753,408% (JIEH)
8,720 *6H *BA| 2t 15 #1 . 2= 502,272& (JIEt)
O MRXZAS+Y (A =) 25,000 *1H*162= 400,0002 (J1E}H)
O JlEt2g ] 830,900& x12|= 830,900& (JIEH)
07015181 % DI E 136,003 147,502| 11,499
71081812 D Ef 136,003 147,502 11,499
712882 75,560 87,059 11,499|0 SXz=2Hl T Bie2 67,883,0002-55,000,0008 = 12,883,000
O JIEtA Y] Bt 2 14,072,0002-15,560,0008= A 1,488,000
O 223 XFIIEAAHl BHEt3 4,104,0002 -4,000,0008 = 104,000
2 Al 2,957,000 3,107,307| 150,307




